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24 BRE
M 0N FOMIMHAZE 23
Sl GRS FoMBX R CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HIs 571,037 607,380 N 36,343
SEs FUHPHAHAES 23 329,459 375,919 N46,460
SIS FOMEX 329,459 375,919 N46,460
HIREs FOUXNXNLMEH 29 18,000 15,000 3,000
201 LEt2 Y| 18,000 15,000 3,000
01 AR 22| I 18,000 15,000 3,000
OFUXXHEHSFHI 18,000, 000& =14 18,000
GHs FUEFHHSH 212,210 212,210 0
301 et A= 212,210 212,210 0
05 -2l -BtEEESEAZ 211,210 211,210 0
Os&=+Y 200,000& #5721 x12& 136,800
Os&ANHZ 200,000& *5721 x23] 22,800
O8&3 e B&Y 20,0003 #5721 %23 x 12& 27,360
OptaE & st 50,0003 4859l 24,250
10 HALAHI B &2 1,000 1,000 0
Ou=x % A 5 FAA AUIE4
1,000,000 * 14 1,000
S@HI2s FA2I 2 15,649 61,409 N45,760
201 LEt2 Y| 15,649 15,649 0
02 332494l 15,649 15,649 0
03322 % MA 9,149,000& * 14 9,149
Od=H| 6,000, 000& x 14! 6,000
OA & &Hl S X 500,000 =14 500
Hs HFXA 82,100 85,800 A 3,700
201 LEt2 A Y| 36,500 36,500 0
01 At 22l Yl 19,500 19,500 0
Oddtg2H| 16,000, 000& =14 16,000
oggs+y4 2,500,000 * 14! 2,500
OxsEdxz 1,000,000& * 14 1,000
02 3524t 17,000 17,000 0
oRE2 17,000, 000& 14! 17,000
202 04| 43,200 43,200 0
01 2LHOHI 43,200 43,200 0
OJleg4a80dl(200!) 3,600,000& x12& 43,200
405 XHoHF SHI 2,400 6,100 A 3,700
01 MM =S FSHI 2,400 6, 100 A 3,700
O9| Xt 180, 000& *x5H 900
ON&E 200, 000& *3H 600
OWdZEIN(HE) 200, 000& =24 400




SN BRE

M 0N FOMIMHAZE 23
ool HPE FUMEXY (el @2)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHs=H QAN E EHMAH 500,000 «1CH 500
g3s AdAZ2eX 1,500 1,500 0
201 Let24d] 1,500 1,500 0
02 ZZ 2l 1,500 1,500 0
OZz4 A02d&eldl FANE=H
1,500,000& 14 1,500
SRS ALE Z I 159,880 156,012 3,868
Sz AREF0U=SJAAE 159,880 156,012 3,868
thas Fo=sJAAMS 150,540 150,540 0
401 Al&HI & 28I 150,540 150,540 0
01 A& HI 150,000 150,000 0
OsXgdd 2 dt+=7 & A== WHIAHL=
150m, B=2m) 22,000,000& =14 22,000
OX%2 SHPESZOME ¥ 2XE ZHA B
XIS AF(L=700m) 45,000,000& =14 45,000
OoZHez® #A E4Z AH(L=150m, H=1.5m)
11,000, 000& 14! 11,000
O3BS(HMOIE) EXE FHA L A==
WIS AH(L=130m, B=2m) 16,500,000& 14! 16,500
OBS(H0IZ) BXHE ZHA L a2
WA 3 AH(L=130m, B=2m) 16,500, 0002 14! 16,500
O258 (e, stdotmEYR) BEXE A4S «
ol Ea WS AH(L=322m, B=2m)
39,000,000 * 14! 39,000
03 Al S THHI 540 540 0
OAIZ S HHI 150,000, 000& *0.72/100%0.5 540
s S22 3 9,340 5,472 3,868
101 14 Hl 9,340 5,472 3,868
04 JIZHHZ2XREE S 9,340 5,472 3,868
Ol (HMaae) ¥ s#AFY|
46,7003 1021 x20 9,340
5 HEF2E 3 81,698 75,449 6,249
s AHA2EH| 53,399 46,045 7,354
H3Rs =529 53,399 46,045 7,354
101 @14l 53,399 46,045 7,354
01 2= 53,399 46,045 7,354
OAZ2 A2 2 8,476 x2121%300A| 2t 53,399
Hos JI=23Hl 28,299 29,404 A 1,105
s JI234l 28,299 29,404 A 1,105
201 Let24d] 11,199 12,384 A1,185
01 At 22/l 11,199 12,384 A 1,185
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BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
ORNE2E+=EHl 5,147 ,000& » 14! 5,147
O=&Hl 6,052,000 » 14! 6,052
202 O4dl 4,160 4,160 0
01 = LH o4 4l 4,160 4,160 0
O22 Kbl 2,000,000 14! 2,000
OJl2g2+8u (1 180,000& »12& 2,160
203 YR =&l 12,940 12,860 80
01 JI228 =4 7,900 7,900 0
OJI22g g =2l 7,900,000& = 1@l 7,900
02 It =& 840 760 80
OIS R F= &Y 40,000& *21¢! 840
04 FNSELR=LH| 4,200 4,200 0
ORN2IYSF=AHI 350,000& »12& 4,200




